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19615 NIKOLAI Ox1 Nai 1 1 120
0 30 [1080] O 0] 0 [Oxi[ 1 [Naf1.110,00] 1
19366 KQNZTANTINOZ Oxi Nai 1 120
0 0 [1080] O 0] 0 [Oxi[ 1 [Na|1.080,00] 2
19452 XPIZTOAOYAOZ Oxi Nai 1 120
0 0 [1080] O 0[O0 |Oxi| 1 |Naj1.080,001 3
19625 AHMOZ Ox1 Nai 1 120
0 0 [1080] O 0[O0 |Ox| 1 |Naj1.080,000 4
19542 OEOXAPHZ Ox1 Nai 1 120
0 0 [1080] O 0] 0 [Oxi[ 1 [Na|1.080,000 5
19608 NIKOLAI Oxi Nai 1 120
0 0 [1080] O 0] 0 [Oxi[ 1 [Na|1.080,000 6
19242 MIHAILOV Oxi Nai 1 120
0 0 [1080] O 0[O0 |Oxi| 1 |Na|1.080,00] 7
19558 ZAABA Ox1 Nai 1 120
0 0 [1080] O 0[O0 |Oxi| 1 |Naj1.080,00] 8
19453 AGANAZIOX Ox1 Nai 1 120
0 0 [1080] O 0] 0 [Oxi|[ 1 [Na|1.080,000 9
19473 ZTEAIOZ Oxi Nai 1 120
0 0 [1080] O 0] 0 [Oxi[ 1 [Na|1.080,00] 10
19662 FEQPrIOZ Oxi Nai 1 120
0 0 [1080] O 0[O0 |Oxi| 1 [Na|1.080,00f 11
19607 MOAIXPON Ox1 Nai 1 120
0 0 |[1080] O 0] 0 [Oxi| 1 [Naj1.080,00] 12
19477 IQANNHZ Oxi Nai 1 118
0 0 |1062| O 0[O0 |Oxi| 1 |Naj1.062,00] 13
19424 EYOYMIOZ Ox1 Nai 1 22 119
0 0 198 | 8331 0 | O [Oxi[ 1 [ Nai|1.031,00] 14
19531 KQONZTANTINOZ Ox1 Nai 1 83 50
0 0 747 0 1501 0 | Oxi| 1 | Nai| 897,00 15
19585 BAZIAEIOZ Oxi Nai 1 1 96
0 30 [ 864 0 0] 0 [Oxi[ 1 [Nar| 894,000 16
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19566 XAPANAMIMOZ Oxi Nai 1 95
0 0 855 0 0] 0 [Oxi| 1 [Na| 85500 17
19620 MANATIQTHZ Ox1 Nai 1 94
0 0 846 0 0[O0 |Ox| 1 |Na| 846,001 18
19650 AITEAOZ Ox1 Nai 1 2 86
0 60 | 774 0 0[O0 |Ox| 1 |Na| 834,00 19
19623 MMNArKPAT Oxi Nai 1 89
0 0 801 0 0[O0 ]|Ox| 1 |Na| 801,00 20
19355 AHMHTPIOZ Oxi Nai 1 1 85
0 30 | 765 0 0] 0 [Oxi| 1 [Na| 79500] 21
19419 IQANNHZ Ox1 Nai 1 87
0 0 783 0 0[O0 |Oxi| 1 |Na| 783,00 22
19580 IQANNHZ Ox1 Nai 1 79
0 0 711 0 0[O0 |Ox| 1 |Na| 711,001 23
19415 ABGANAZIOZ Oxi Nai 1 22 41
0 0 198 [ 287 [ 0 | 0 | Oxi| 1 | Nou| 485,00[ 24
19569 PETRO Oxi Nai 1 46
0 0 414 0 0] 0 [Oxi| 1 |Na| 414,00 25
19387 FEQPTIOX Ox1 Nai 1 45
0 0 405 0 0[O0 |Ox| 1 |Na| 40500 26
19423 ZYMEQN Ox1 Nai 1 4 50
200 0 0 0 [150] 0 [Oxi| 1 | Nai[ 350,00{ 27
19469 NAMIMPOZ Oxi Nai 1 4 3
200 90 0 0 0[O0 ]|Ox| 1 |Na| 290,00 28
19439 XPHZTOZ Oxi Nai 1 4 8
200 90 0 0 0] 0 [Oxi| 1 [Nar| 290,001 29
19162 MANATIQTHZ Ox1 Nai 1 4 &
200 90 0 0 0[O0 [Oxi| 1 [Na| 290,00/ 30
19204 ZTEPT10Z Ox1 Nai 1 4 8
200 90 0 0 0[O0 |Oxi| 1 [Na| 29000] 31
19457 EYAITEAOZ Ox1 Nai 1 3 22
0 90 | 198 0 0[O0 |Ox| 1 |Na| 288,00 32
19667 MIXAHA Oxi Nai 1 4 2
200 60 0 0 0[O0 |Ox| 1 |Na| 260,00 33
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19705 FEQPTIOZ Oxi Nai 1 4 2
200 60 0 0 0] 0 [Oxi| 1 [Na| 260,000 34
19560 IQANNHZ Ox1 Nai 1 4 2
200 60 0 0 0[O0 |Ox| 1 |Na| 260,00 35
19539 XPHETOZ Ox1 Nai 1 4 2
200 60 0 0 0[O0 |Ox| 1 |Na| 260,000 36
19208 ABGANAZIOZ Oxi Nai 1 4 2
200 60 0 0 0[O0 ]|Ox| 1 |Na| 260,000 37
19219 IQANNHZ Oxi Nai 1 4 2
200 60 0 0 0] 0 [Oxi| 1 [Na| 260,001 38
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